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(1) Zdfri(v) VTHOERIZED v =9 %
(2) Bl A58 (m)
0. 85 1
al= 8.0 = 1.16 a2 = o 50V = 1.22
100 100
m = a2 X SL = 1.22 X 27 = 32.9 N/mf
YoT m = 32.9 Nmt
(3)/kEA L FEE(W/C) m = -14.0 + 25.4 X C/W
W/C = 25.4 =+ (32.9 + 14.0) X 100 = 54 %
W/C = 54 %
(4) HpKE (W) WTIEOFEEICELY W = 172 kg/m
(5)HAIE AL FE(C) C =W +~ (W/C) X 100 = 172 += 54 X 100 = 319 kg/m
Cv= C + g = 319 ~ 3.02 = 106 £2/m
(6) 2558 (A) A = 4.5 % X 1000 = 45 2 /m
(7)EHM=(s/a) YTHOEREIZEY s/a = 46.2 %
(8)HN M EME(S) Sv = (1000 — (WH+Cv+A)) X s/a = 677 X 46.2 % = 313 #¢/m
S = Sv X EWEKE = 313 X 2.62 = 820 kg/m
SI = S X 80.0 % = 656 keg/m
S2 =S X 20.0 % = 164 kg/m
(9) BHALHEM £ (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 636 = 364 £ /m
G = Gv X EWEE = 364 X 2.66 = 968 kg/m
Gl = G X 60.0 % = 581 ke/m
G2 = G X 40.0 % = 387 ksg/m
(10) BN FNA &= (Ad) Adl = C X IN=FE = 319 X 0.8000 % = 2.55 kg/m
Ad2 = C X INFE = 319 X 0.8000 % = 2.55 keg/m
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